Telangana State Council Higher Education

Notations :

1.0ptions shown in green color and with

icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name:
Subject Name:

Creation Date:

Duration:

Total Marks :

Display Marks:

Calculator:

Magnifying Glass Required? :
Ruler Required?:

Eraser Required?:

Scratch Pad Required?:

Rough Sketch/Notepad Required? :

Protractor Required?:

Show Watermark on Console? :
Highlighter :

Auto Save on Console?

Change Font Color:

Change Background Color :
Change Theme:

Help Button:

Show Reports :

Engineering 13th May 2023 Shift 2
Engineering
2023-05-13 20:32:28
180

160

No

None

No

No

No

No

No

No

Yes

No

Yes

No

No

No

No

No



Show Progress Bar :

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

No

Engineering

1
28393634
0

180

No

No

160
No
Cant View

No

Mathematics

283936118
1

Online
Mandatory
80

80

80

Yes

0
1

283936118



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 2839365281 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following functions is a bijection?

BOBINDATOS’ DO & 51D 1990 050?

Options :

[ R-Z-> [(}, 1] defined by f(x)=,/x - [r] . (Here [1] represents the greatest integer function)
f) = \Jx=[x]m Q8500508 [ R -Z - [0,1] (286 [x] 102 08 (AT
28393621121, % ATOROD)

J'( . R —> (— ’JZ..E) dEﬁnﬂd b}' ﬁ:}{) = 4_]:..._1-‘1__3

J8303621129. % SO = 4x—X" =3 mB5D0D2AS f:R - (- »,2)

1
x—5

M QG IDodES [ :1(5,0) > R—-{0}

f(x)=—
28393621123, % Vx-35

/:[0.4] - [0,4] defined by f(x)=+v16-x
28393621124, v J (%) = V16 —x" T E5D0H0ES f:[0,4] — [0, 4]

Question Number : 2 Question Id : 2839365282 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The domain of the real valued function f(x)=-Y—— is

f(x)= yxl-» B TR IO (D000 B3NE) |NTF0

x= [x

Options :

28393621125, %
28393621126, % P
28393621127, v R-Z

28393621128, % R

Question Number : 3 Question Id : 2839365283 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The range of the function defined by

[ 2x-3, ifx<=]

f(x)=41-x*, if-1<x<l is

3x*+2, if x>1

[ 2x=3, x<~l1 ©ONS

f(x)=91-x*, -1£x<1 eond

3Ix2+2, x>1

©one
T QB DS TS (DDA FR0EY T4

Options :

28393621129, % R



28393621130, ¢ © P2V [0, LU (5, )

28393621131, % (-2 -1) U (1, 0)

28393621132, % >-3)U(0, U (3, )

Question Number : 4 Question Id : 2839365284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

b a 0 0 a b 2 2 7
If A=|¢ 0 b|and B=|bh 0 ¢ | aretwo matricessuchthat AB=|1 8§ 5|,
a a b b a a 36 10
then a* +b’ +¢* =
b a 0 0 a b 7 2 7
A=lc 0 b| 00 B=|b 0 c|e 4B=|1 8 5 | o35t &) Dotk
a a b b a a 3 6 10

SrOEB8, edych 2’ +b +c' =
Options :
28393621133, ¢ 14

28393621134, % 17

28393621135, ¥ 22



28393621136, % 29

Question Number : 5 Question Id : 2839365285 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

1 a 3 0 5 b
If A=|b 2 ¢|isasymmetric matrixand B=|-5 0 -7 isaskew
3 d 4 6 ¢ 0

symmetric matrix, then AB =

| a 3 0 5 b
A=|b 2 c¢| 28RS Sr@ED0AM B=|-5 0 -7| a8 S
3 d 4 6 ¢ 0
(35 @900S, €95 )¢ AB =
Options:
48 27 48
52 19 22
28393621137. # =39 43 -67
48 26 36
32 19 22
28393621138, ¥ -11 43 -67
12 26 36
32 79 50
-11 43 —-67

28393621139. #

28393621140. #



12 32 41
32 19 22
-11 43 -&7

Question Number : 6 Question Id : 2839365286 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=] =3 =4 a a, a
[f the inverse of the matrix 4=| 0 1 2 |is A" =|b b, b, | thena+c,+b=
J 4 5 6 6 G
=1 =3 = a, a, a
A=[0 1 2| Sm@ETG SN0 A =[b b, b, | €S @) 6 +c,+b =
3 4 3 & & O

1

A

Options :

28393621141, % —0

2
28393621142, % 3

2

28393621143. ¢ 3

28393621144, % 6

Question Number : 7 Question Id : 2839365287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
If x=a,y=pz2=y is the unique solution of the system of linear equations

2x=3y+5z=12, Sx+2y+3z=11 and x+2y-3z=-3 then 20 +56+3y=

=-3y+52=12, 5x+2y+3z=11 H060M x+2y-3z=-33 & H7S HDEBE S

B BETOS X = @,y = f, 2 = 7 oond, e 2a+58+3y=

Options :

28393621145, % 10
28393621146, * 11
28393621147, % 3

28393621148, ¢ 2

Question Number : 8 Question Id : 2839365288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2022 2022

lrf--‘-:_uhen(lh/i;] —[JE—:') =

2022 2022

i? = -1 ©ond (1+J§f) "—[ﬁ—f] =

Options :

23
28393621149, ¢ 2

28393621150, ¥ 0

28393621151.



42022

1011
28393621152, % 3

Question Number : 9 Question Id : 2839365289 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

() (&

4
* —\ﬁ ] =r cis 0, then one of the values of \/r cis@ 1s
I+1

<3

x@—f ﬁﬂ'

Options :

EalRes

4
} = rcis  ©oNS, @)D Jr cish TE) JenSeS’ 2,563

)
ClS e
28393621153, % 4
=
ciy | —
28393621154, ¢ 2

28393621155, # 3

28393621156, % €IS 7T

Question Number : 10 Question Id : 2839365290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

If z=Xx+1y and the point P in the Argand plane represents z, then the locus of Z
satisfying the equation |z—21+|z-2i|= 4is

z =X+ iy SO0 8FT08 $00S z & Dot P &rdW, |2-2+|z-2i|= 4
DDEBETR) $92 HOT Z TwEy Dok DKo

Options :

28393621157, # 4x* +3xy + 4}’1 —6x—-6y+8=0
18303621158, % 3% +2xy+3y” —8x—8y+6=0
28393621159, ¢ 3x* + 2xy + 3}’3 —8x—=8y=0

1 2 o
28393621 1 60. ® 4.1 + 3.1}’ —l'_ 4'1.-' =y 6.,'{‘ = 6}-’1 S— U

Question Number : 11 Question Id : 2839365291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2
One of the values of (\E —i ]_5 1S

2
(\/?_;—J.'F /&) Dewsere 2,5¢3

Options :

2
3

27 (1-+31)

28393621161, #

2_?3[\/5“')

28393621162, #



(0]

-
28393621163. *

(B~

2_7{ +3 i)

28393621164. ¥ -

Question Number : 12 Question Id : 2839365292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If @, B.7.8 are the roots of the equation x* + x* +1=0such that & + f =1,

2022 2022
+0

y+8=1 o =p and y‘j' = 5. then &' +,8m23 +y

a,B.7.6 e a+f=-1 y+5=1 o’ =p 635 y: = —0 eoOBDELIEY TP 50

v+ +1=0 558800 Tng) SrerBE o o + B+ 48

Options:

28393621165, ¢ |
28393621166, % 0
28393621167, # 113w

28393621168, ¥ W-2w°*

Question Number : 13 Question Id : 2839365293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Let the equations ax” —7x+¢ =0 and ax’ + 5x — ¢ =0 have a common root and

ac#0. If 3 is a root of ax’ = 7x + ¢ =0 other than the common root, then the

common root of the given equations is

ax’ = Tx+¢=00000 ax’ +5x - ¢ = 005 2,8 &a0A LreS oS DA

ac # 008 ©N%0T0. ax’ —Tx+c=0 & &0 SQrodn 50 af reo 3
0NE, ©:))¢ 3 HDEBTe Ty GBS0

Options :

28393621169, # 3

|
28393621170. ¢ 2

28393621171, % 2

]
28393621172. % 3

Question Number : 14 Question Id : 2839365294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The set of all values of x for which the inequalities x* —7x +10 > 0 and

2x+3—-x" >0 hold simultaneously is

X =Tx+1020 H00 2x+3-x" >0 OF WIDECTOD S8 5008 SH0T
X eI 083 Naded

Options :

28393621173, * (-, 2]



28393621174, % (3, )

28393621175, ¢ (-1, 2]

28393621176, % [2, 3)

Question Number : 15 Question Id : 2839365295 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If &, f3, y are the roots of the equation 2x +x —13x+6=0, then &’ + f* +° =

2x' +x" =135 +6=0 HDEGE0 T soreren a, B, ¥ wowd, @y o+ +7 =
Options :

161
28393621177. % 8

lad

28393621178. ¥ 30

=

28393621179, % 99

151
28393621180. ¢ 8

Question Number : 16 Question Id : 2839365296 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
If &, B, v are the real roots of the equation 18x" —15x* —4x+4 =0 such that @ = f§

and g >y, then ¢+ +y' =

a,f.y e a=f 60w a >y eddhitenr sod 18x’ -15x" —4x+4=0
NaEBEI0 TGy TN NrrBB, @) a+f+y =

Options:

T1
28393621181. ¢ 712

53
28393621182, % 54

RO
28393621183, ¥ 90

59
28393621184, ¥ 60

Question Number : 17 Question Id : 2839365297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If « is a multiple root of the equation x* —6x" +11x' =2x" =12x+8=0 then 30> - 20+ | =

0 @R x° —6x' +11x =26 ~12x+8=0 $SNEGea0 Ty 2.8 2T FODS
Ja-20+ 1=

Options :

28393621185, % -2

28393621186. % |



28393621187. % 0

28393621188. ¢ 9

Question Number : 18 Question Id : 2839365298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
All the letters of the word ‘INDEED” are taken and permuted in all possible ways to

form distinct 6 letter strings (words with or without meaning). If they are listed in

dictionary order, then the rank position of the string ‘NIDDEE” 1s

‘INDEED’ 3 3%059 ©iTo)08d S, T8 FEiR8) e
@00 6 @5 0°¢) DE)S) DBENOD (9F30:5) 2 B ©fein BR DETOD) B IGTTE.
Q0N 8005 el ardersd Sor&BE N ‘NIDDEE’ o0F H¢63 Thog), o°508
0

Options :
28393621189, # 349
28393621190, ¥ 325

28393621191, % 163

28393621192, ¢ 173

Question Number : 19 Question Id : 2839365299 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

All possible 5 digit numbers each having 5 distinct digits are formed using the digits 1, 2,

3,5, 6, 8. Among them, the number of numbers which are divisible by 3 but not by 6 is

1,2,3,5, 6,8 ©08000&rA00, NS 5 D) @08en EORS e Hdhs ©d) 5
2080 NOWVIOD ASIGTH. TES 6 T sHhow 3 T erfodad Howe How;

Options :

28393621193, * 120

28393621194, % 12

28393621195, ¢ 48

28393621196, % 240

Question Number : 20 Question Id : 2839365300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total number of ways of forming a commuttee of 5 members out of 7 Indians, 6
Americans, 5 Russians and 4 Australians so that every committee contains at least one
member from each country is

7 535 2rGeaosneD, 6 HE eBERD, 5 HXS GA5 HBAM 4 HX & VOHN Hodk
98 E0e35' S 2828 B0 08 D0 2.8 D3t GOTLERT 5 HiXh dehsende
2,8 20630 B 18BHOT Ino e Hows

Options :

28393621197, * 3360



28393621198, ® 6720
28393621199, ® 7200

28393621200, ¢ 1260

Question Number : 21 Question Id : 2839365301 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The numerically greatest term in the binomial expansion of (2x—-3y) when x = 3 and y=— 18

LIPS I

X =§ AVolo WY =§ @00y, (2x —3_1!)5 T A58 NG Hogrses Eor B 50
Options :

28393621201, % 360
28393621202, v 1080
28393621203, * 720

28393621204, % 2160

Question Number : 22 Question Id : 2839365302 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

When 322 is divided by 16, the remainder obtained is

32023 % 16 T 2rRot™ ST ) 3w

Options :

28393621205, % 15

28393621206. ¢ 11

28393621207, % 9

28393621208, % 7

Question Number : 23 Question Id : 2839365303 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IF 3k =142 42 i, then a°+45° 4627 + 4x =
g8 8.13 16
5 59 5 s
Ix=l4+—tF——F—+- OO, @I 1 +4x +6x" +4x =
g8 8.13 16
Options:

28393621209, % 0

28393621210, % |

28393621211, ¢ 4

28393621212.



Question Number : 24 Question Id : 2839365304 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

2 +3x7 +3x+5 . . -
If is expanded in terms of the powers of x, then the coefficient of x” is

(,ﬁ +|)(x3 +2]
20 +3x% +3x+5
[.rj +I)(.r3 +2)

Options :

& x g SrEFONKONS He S ANBODSY IR, ¥’ TB0E), Hesdo

28393621213, % 0

28393621214. =

17
28393621215. ¥ 8

9
28393621216. ¢ 8

Question Number : 25 Question Id : 2839365305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

sin 6°+ sin 54° +sin 126° + cos 156° =

Options :

28393621217.



J§+1

v 4

J5-1

28393621218. % 4

28393621219, ¥ 2

3

28393621220. ¥ 4

Question Number : 26 Question Id : 2839365306 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

-12 T
If tan o :T, cot f# :E, a does not belong to second quadrant and f does not belong to

E ool

first quadrant, then J13sin % +C08 5 +fan 3 cot =

tan ¢ :%2, cot ﬂ:j—_;, a 3065 T8 TosAE DA F 280 T8 TosES,

.o o

©:) ) \[ﬁsm—JrcosﬁJrlan—cmﬁ:
2 2 2 2

Options :

31
28393621221. % 10

19
28393621222. ¢ 10



21

28393621223. # 10

-9
28393621224, ¥ 10

Question Number : 27 Question Id : 2839365307 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

T 2T Iz T R4 5T
cOs ? COS— COS— COS— CO5——COSs H =

Options :

1[ . = . 27 37
—| $1In —+ s1In —+ sin—
7 7 7

28393621225, % 16

1]... 2% . 3T T
—| s1n + s1n —Sin —
7 T T

28393621226, % O

] { 27 .3t . @
—1 sin + 51N — — SN —
7 7

28393621227. ¢ 32

| . T . . 37
_"} SINn—-—S5In——+s1n
28393621228, % 32 7 7

Question Number : 28 Question Id : 2839365308 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



If simhx=—i then sinh 2x+cosh 2x =

sinh x=—§ ©OoNS, @) sinh2x+cosh 2x =

Options :

-31
28393621229. % 41

28393621230. ¥ 9

49
28393621231, ¥ 41

|
28393621232. ¥ 9

Question Number : 29 Question Id : 2839365309 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In triangle ABC,if b = 6, ¢ = 7 and lané:L, then the inradius of AABCis
2 6
9%ES» ABCS' b = 6,¢ = 7 HB0w tan%:ﬁ ©ond, AABC G, @088Tsrgo
Options :
2

28393621233, % V3



28393621234, # 9

28393621235, % 9

28393621236. ¢ 3

Question Number : 30 Question Id : 2839365310 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In AABC ,ifa=7,b=8 and ¢ = 9 then L:+ ! + ] =

¥ ]
£

da

I, ry

&ABC@S‘Qa=?~h=8ﬁ)ﬁﬁinc=9@omé,@a’gmﬁ) L,_,+ 12+L1=

h R h

Options :

2L
28393621237. ¥ 360

28393621238. ¢ 12

169
28393621239, ¥ 360

67
28393621240, % 72



Question Number : 31 Question Id : 2839365311 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the points with position vectors 7 — j +k, 21 —k, j +2k and i + ] + Ak are coplanar,
then the magnitude of the vector 64i =3/ + 6k is

T—T+k, 21—k, J+2k SO0 T+ + 2k 0 7 d&Fenr e Hodeyen

DSOS &, @) 647 -37 +6k BT T, HOSTD

Options:

28393621241, % V4

28393621242, % V46

28393621243. v 7

28393621244, % 9

Question Number : 32 Question Id : 2839365312 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Let @,b,C be three non-coplanar vectors and L be the line passing through the points
a-b+¢ and b-7 . If 7 is a plane passing through the points 2a-b,2b -7 and 26 -a,
then the point of intersection of L and 7 1s

a,b,c 0% S o3 NOIOA HOM L & a-b+ HB -7 Hodhye
HoENTH 6% B © ©0%00. 2a-b,2b -F HBAW 26— HotYe HomdFah

28 der) 7 ©DFToB), @) L H00H 7 © ot Dotvey

Options :

28393621245, % d—b

28393621246, % D +C

28393621247. % € —4@

28393621248, v @ —b +¢

Question Number : 33 Question Id : 2839365313 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Let a=7-2j+2k,b=6i+2j-3kand =37 -4j-12k be three vectors. If p is the

projection of 5 on Zand 7 is the projection of ¢ ond, then 13 p=

[ ]

7+2k,b=6i+2j -3k 0050 €=37-4j-12k en S HOFO0K0T0. d

a=i-
D b To% AT P DO 7 D T Bk DT ¢ @ons, e 135=

Options:

28393621249 ¢ 44



28393621250, ¥ 4

28393621251, % 04

28393621252, % 14

Question Number : 34 Question Id : 2839365314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Let @=i+2j+3k, b=3i-j+Skand ¢=1-4] -2k be three vectors. Let 7 be a

vector perpendicular to both b, and 7. =11. Then the vector among the following that
is perpendicular to 7 is

A=i+2j+3k, b=3i-j+5k SBa c=i-47-2% e Srd HOFen
%00, b, ©% B0A0EE L0V &) 2.8 HOF 7 ©d Hockw F.a=1led
©:0%00. ©))¢0 80d S8F0S 7 § wonomr &oR HOF

Options:

28393621253, % | +J +k

28393621254. v | —J +k

28393621255, % | +J —k

28393621256, % | —J —k
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The volume of the tetrahedron with 7-Aj+k, A7 —j-k and 7+j+ik as

coterminous edges is 2. If A is an integer, then ‘FL? -34j+3k ‘ =

T-AJ+k, AT —J—k 0050 7+7+Ak o0 Q3ES5ar% @90thent fe 5esdnd)
D D087830 2. 4 28 SFFOSDE, @) |17 -347 +3F|=
Options :

28393621257, % 3

28393621258, % V19

28393621259, ¢ 7

28393621260, % 13
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IfMand ¢ represent respectively the mean deviation from the mean and the variance

for the data 1,3, 5,7, 11, 13,17, 19, 23 then 3(o* - M=
M»oasn ¢’ en 1,3,5,7, 11, 13,17, 19, 23 $Z0oT8 S5 @008 563550 $08
3369855 XI55 DO DY AFDAFODDTOR, €953 1¢0 3(0‘3 -M ) =

Options :

28393621261.



% 232

28393621262, % 112

28393621263, * 224

28393621264, ¢ 136
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A bag contains 3 red, 5 black and 7 blue balls. If three balls are drawn at random

simultaneously from the bag then the probability of getting at least two blue balls 1s

28 H0DS 3 B, 5 VI HB 7 A Bor 20SENTIOW . & NoD Sodk
OPGSIDIE0T™ &S0 Srch 200N SR, §AN0 Bot AOBOMH WO
N foTa VO TANIT
Options :

29
28393621265. ¢ 5_5

29
28393621266. * 130

9
28393621267. ¥ 65

9
28393621268. % 130
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In a game, two dice are thrown simultaneously by a person A and two cards are drawn at
random simultaneously from a pack of 52 playing cards by a person B. They win the game
if A gets a prime score as the sum of the numbers appear on both the dice and B gets a face

card and a card having a prime number. Then the probability that both A and B win is

28 80 2.8 5:8 A Both FDE0 5008 JHESTE HO0M 52 D Sn&ende
%6 04 2.8 918 B 5006 3o HE {0 airdyd)gor Sard . A § Bod

50 DG EANOT HOPIO B0 (TS HoDF SV, B & Snmsn EO8S DE gy
BOR (DTS 0D Ged) D 508y 57, T8 € SOES Tenard. €9:3)8 A 8y B en
A8 sOS TOSTIE fo Dozrssed

Options :

8
28393621269, ¥ 663

40
28393621270. ¥ 6063

16

28393621271, % 117

40
28393621272, % 221
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Two players A and B alternatively toss 3 coins simultaneously. The player who gets 2
heads and 1 tail first, wins the game. If game continues until someone wins and if A
begins the game, the probability that B wins the game 1s

208 ey A, B e 2,88 Sared 2,55 3 HO0 5006 JHESNT) &
2 SOTES 2 550300, 1 T8 I0AST0 e e9es e &6 Tenard. o8
2,88 BON[B0SI8% €36y TIrAS OGN et A rS0d7), B fosang o
02T

Options:

28393621273. ¥ 39

-1 =

28393621274. =

15
28393621275. ¢ 39

-1 | s

28393621276. *
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If X is a Poisson variate satisfying the condition 3P(x = 2)= P(x=4) then P(x=6)=

X @30 3P(x=2)=P(x=4) ©®F JoDSITY) SyN0T FoNerd HOUE BoNsS,

@)% P(x=6)=

Options:



162
28393621277, % Se°

28393621278, ¥ S’

324
28393621279. ¢ Sé°

648
28393621280, # Se’
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Let A=(1,2), B=(2,1), C=(~1,~1) be three points. If P is a point such that the

area of the quadrilateral PABC 1s twice the area of the triangle PAB, then the equation
of the locus of P is

A=(1,2),B=(2,1), C=(-1,-1) en Suirch Docvayerdvdoozro. PABC

Seoth)Eo gy 3750 PAB (82h0 Ghns) 377ers 580y edhsténm P
O 28 Do) GO, @3¢ P E30E) Dot Hise0

Options:

28393621281, % 8% —14xy+3y* —18x+22y+7=0

28393621282, % 9X" —12xy+4y’ —24x+16y+16=0

78393621283, % X +2xy+y° —6x—6y+9=0



28393621284, ¢ X —4xy+8y—4=0
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When the origin is shifted to the point (A, k) by translating the coordinate axes, the equation
§=2¢" —xp+ 7’ +2c+3y+1=0 is changed to §' = ax? + 2hxy + by? — 3 = 0. Again
by rotating the coordinate axes about the new origin through the angle € in the positive
direction, 5" =0 is changed to Av*+By*+C=0. Thenh +k + tan 26 =
Sro Doty (h, k) Dodu S0 @f J85rosd H0NESETIoe W8 )06
S=2r" -4y + 2043y +1=0 HD¥e0 §' = ax? + 2hxy + by -3 =0 &rd)

T0H08. 860 &S IS’ 0 F00 100 SPseS Sire) Do D ©F (855980 TR
§'=0508800 Av'+ By +C =0 S5 Todod. eyt h+k+tm 20 =

Options :
28393621285, ¢ —4
28393621286 # 0

28393621287, * 1

28393621288, ¥ —1
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Two points Pfa, 2) and O(1, b) lie on either side of the line 2x-3y+1=(0. If P 1s the point

of intersection of the lines 4x+3y+k=0 and 3x+4y+k=0, then the range of b is

Pla, 2) 500 O(l, b) ©F Boch Hochden 2x-3y+1=0 H5¢ B adBHO
G o0, dx+3y+k=0 HB0W x+4y+k=0 J6¢ Bpe Podd Doty P eons,
)¢ b OI0E), ar§e)

Options :

28393621289, # (-, 3)

28393621290, ¢ (-¢, 1)

28393621291, % (1, )

28393621292, % (3, %)
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Let the angle between the lines x—2y+3=0 and k- y+2=0 be45°. 1t &, &, (k > k)

are two distinct real values of £, then k; -2 =
x=2y+3=0 HBA k-yp+2=08¢ Dpo HP; Foo 45° edhiooro.

k, ky(k, > k) e0 k 330%), 50t D), Qs ens8a, @) ki - 2=
Options :

28393621293, % k2

28393621294, % —k2



28393621295, ¢ —3K,

28393621296, % k2
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[fthe lines 4x+3y-k = 0), 2x+y+3 = (land 3x+2y+k = () are concurrent, then the perpendicular

distance from the point of concurrency of these lines to the line Jx+4y+2 = 0 is

dx+3y-k = 0, 2x+y+3 = 0 00050 3x+2y+k = 0 6% Bpen odATOoNS, & 59 &N
Doeh oG Ix+4y+2 = ) H&¢ B e eoadrdo

Options :

3
28393621297, ¥ 5

28393621298, % 1

13
28393621299, ¥ 3

d

28393621300. ¢ -
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Let A(1,3) and B(2,5) be two points and C(h, k) be a point such that BC 1s perpendicular
to AC. If [CAB=|CBA, then h=

A(1,3) 80 B(2,5) e Boch Docyerd, AC § BC exoaom ot Clh, k) &%
2.8 o) G0t @%omro. |CAB=|CBA ©ond, &)t h=

Options :
24 7
rr— G'I"' a—
5 2
24
A !
28393621301, # 3 2
2 i
s n}‘ JR—
5 2
2 7
‘d> L
28393621302. # 5 L
] 5
— ar —
2
] 5
_ ¥ 2
28393621303. ¥ 2 2

24 2

—_ Or —

5 5

24

2 S L
28393621304, ¥ 5 >
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Let the line 2x -3y —1=0 intersect the curve x* +2xy+5y" +2x+3y~1=0 in distinct
points A and B. If ‘0" is the origin, then cos| A0OB=

2x-3y-1=0 o3 H6¢ 89 ¥ +29+5)" + 2r+3y-1=0 &3 S50 A, B &3 D)
Hodo S8 pododddomro. ‘0’ dre Hocgd, cos|A0B=

Options:

1
28393621305, % 2

)

28393621306, ¥ 5

28393621307, % 0

33

28393621308. ¢ 7
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The equation of the circle inscribed in a square formed by the lines x+y-2=0, x+y-6=0,

x-y+1=0) and x-y+5=0 is

x+p-2=0, x+y-6=0, x-p+1=0 H0% x-y+5=0 & $5% Fpod 263 2.8 SddHos”
©080D0RS S0 Ty &R0

Options :

28393621309, ¥ 2X° +2y° —2x—14y+21=0

28393621310. # x4 .1’: —x—=7y+10=0



28393621311, % 2X +2y° —x=Ty+21=0

28393621312, % X +¥ —2x—14y+10=0
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Let the circle S =x"+y* +2gx+2 fy +¢=0 touch the positive X-axis and the positive
Y-axis. Let (2,4) be a point on the circle S=0. If two such circles exist, then the difference

of their areas is

S=x"+1 +2ax+2fr+c=0 $980 & X-0FR) HOA O Y- &)
Q)97N0HH00. =0 5980  (2.4) 28 DotNSNFI0E0. NS08 SyBren
Bt S3SS, 7 FTerse Heds B0

Options :
28393621313, % 104 m
28393621314, ¢ 90 T

28393621315, ¥ 2 T

28393621316, % 41 ™
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[f the equations 2x-3y+3 = (), 2x+y+1=(and 6x+4y+/=0represent the sides of a triangle,

then the equation of the circle passing through the vertices of this triangle 1s

2:3y+3 = 0, 2etp+=0 SO0 Gr+dy+=0 ©F HEGen 2.8 Bz T
2020 SO ORNE0E), @) & |B2hzsn T, TN FadH Syo Tws),
Na8Be0

Options:

58393621317, % 4x° +4)* +9x—10y+7=0

28303621318, # 2X +2y° =Tx=5y+9=0

28393621319. ¥ 8x* +8y° +18x—20y+17=0

28393621320, % X +¥ +3x—y+13=0
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If TT'and T,T, are the common tangents of the circles S =x"+y’ -2x-4y-4=0and
§'=5 +yl +4x+4y+4=0where Ty, T,' , T,, T, are the points of contact, then the distance

between T, and T/ is

S=x'+y -x-4y-4=05000 §'=x"+y +dr+4y+4=0 Sy@e% T) T/ SBckn
T,T; o0 & §)0; Open &dasw Ty, T/, T, ,T; 0 )8 Dothajen eond ey T,
080 T/ © D3 e drdo

Options :

28393621321, % 66



28393621322, % 5v6

28393621323, % 106

28393621324, ¥ 2.6
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Acircle S =1+ +2gr + 2 +4 =0 cuts the circle x* + v* —4x—4v—4 =0 orthogonally
and makes an angle of 60° with the circle x* +v* +4x+4y+4=0. Then the radius of the
circle S=01s

S=rt+17 +2g0 427 +4=0 oF 2.8 5980, 1* + 5 —4r-4y—4 =052

00T OG0 TP, 8 $980 ¥+ +4x+4v+4=0 & 60° © Feo0 TTFod.

@)% S =0 Sydo o) Frdo

Options :

28393621325, ¢ 4

28393621326, ¥ 3

28393621327 % 9

28393621328, # 1
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If the circle S=x"+y +2gx+2fy+c=0 cuts each of the three circles
4y +4x+4y+7=0, X*+y -dx+4y+7=0 and x*+y’ -dx-4y+7=0
orthogonally, then the equation of the tangent drawn at the point (/3,2 to the circle
S=0is

S=xX’+y" 42ax+2fi+e=0 ©F S0 x*+y’ +4x+4y+7=0,

4y —4x+4y+T7=0 D00 ¥+ —dx—4y+7 =003 5 SHTOSQ
HBI)TR) 00T IS80 TR, ©3)¢0 §=0 398 (1/3,2) Doy 3¢ ADS
)87 B Mabideao

Options :

(V3-1)x+4y+(V3-1)=0

28393621329. #

28393621330, v N3X+2y—-7=0

(\E+2J.t+3lr+(ﬁ+l]:0

28393621331, #

58393621332, % V3X—2y+7=0
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If the line 2x+3y+n=0 is a tangent to the parabola y* =8x, then the equation of the
normal drawn at the point (2n, 4/n)to the parabola y* =8x is

1 =8x JUHIOTRE, 2x+3y+n=0 8¢ T 2.8 $)8; 09 eond, @)t ¥’ =8x
HTSONTE (20, 4n) Doty SO i edeondy B, HNEGH0

Options :

28393621333, * X-3y+i8=0

28393621334, % 3XxT2y-30=0

28393621335, ¢ X Ty-66=0

28393621336, % 2X-3y+6=0
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ax-y+c=0 is the equation of the common tangent to the parabola y* = 8/5 xand the
cirele x* +y* =1. If this tangent makes an acute angle with the positive X — axis in the
positive direction, then a’c’ =

72 =85 x HTS0aHsn HBAM xF +yF =1 SyEIE Ko &0 9)8) B d&Bmo
ax-y+e=0. 8360 83 X - 0508 d38S 28 owserd) BN, a'c’ =

Options :

28393621337, % 40

28393621338, * 80



28393621339, % 160

28393621340, v 20
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In an ellipse, the distance from one of the foci to its corresponding end of the major axis
s 4—ﬁ and the distance from same focus to one end of the minor axis is 4. Then the
cosine of the angle subtended by the line segment joining its foci at one end of its minor
axis 1s

2.8 B8 S90S, = THOS 28 TAD0S, & THE 0BT &) ATE0 Ty
29088 oYL Ko EPE0 4—+/7 HO0M e &8 o (T80 Tng) .8 @od;

20095 e Erdo 4. @) ) T7Ehed §67 Dareodo, o FTar 5 0 TBnd), 2.8
90¢b¢ Do) S T Feao By, TN

Options :

|
28393621341. ¢ 8

3
28393621342. ¥ 4

Nl

28393621343. % 3

l
28393621344, % 37
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If the equations x=1+2cos8, y=2+sinf, 0<68 <27 represent an ellipse, then the
point of intersection of the normal drawn at P [ %} to this ellipse and its major axis is
x=142c080,y=2+sin0,0<0 <27 580sren 28 AY SHTR), Ardw, & O
STRE PE} Doty ¢ HDS 8e020n 500N ATTe 90k Dot

Options :

28393621345. ¢ [

NEH,O}

28393621346. * [

8+3 0}

2
28393621347. % ( -

5
39)
28393621348, % \ 2
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bl 2

; ¥ 5
If the equation x + y +n =0 represents a normal to the hyperbola = -'? =1, then n=

3} )

X+ y+n=0 oF dNisn0 % - -12— =] 8% 98IT9O0H0 TnE), ©De020PD
i)

AFOR @) 7=

Options :

28393621349, % +3
28393621350, ¢ T4

28393621351, # +2

28393621352, % 12
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A(l,2,3),B (2,3, 1)and C(3, 1, 2) are three points. If the point P divides AB in the
ratio 1 : 2 and the point Q divides BC in the ratio -2 : 3, then the distance between P and
Qis
A(1,2,3),B(2,3,1) 8a C(3, 1, 2) en Sirdhy Hodhahen. P e Doy ABQ 1:2
285, Q @F Doty BC A -2 1 3 A)BS e DBB00D, @3¢ P svdain Q
0 3 Ko Ardo

Options:

28393621353, ¥ V312

28393621354, % 13



2778

28393621355, ¢ 3

28393621356, % 23
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If the image of the point (1,—2,1) with respect to the line passing through the points

B(1,1,2) and C(2,2,1) is (I, m,n), then *+m*+n’=
B(1,1,2) S80%m C(2,2,1) Docodyomhor §ah H6$8 Sars, (1,-2,1) Do
G, w&Dowo (I,m,n) wond, ek P+m*+n’=

Options:

28393621357 % 1
28393621358, % 2
28393621359, % 22

28393621360, ¢ 20
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A plane 7 passing through the point (1, 1, 1) is perpendicular to the line joining the points

(6, 3, 2) and (1, -4, -9). If ax+by+cz-23=0is the equation of the plane = then

a+b-c=
(1,1, 1) Doty o &FSh 7 @ 00, (6, 3, 2) 08akw (1, -4, -9) Dothyersd O
HEETDH 0O G0D. S0 7 TIE) JEsH ax+by +cz-23=0vws

a+b-c=
Options :

28393621361, ¢ |
28393621362, % 23
28393621363, % 9

28393621364, % 13

Question Number : 62 Question Id : 2839365342 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

_ {/6+.r—{/l0—x
Iim =

x—2 i

Options :

|
28393621365, ¥ 8

]
28393621366. ¥ 4

28393621367.



#
b | =

1
28393621368, # 16
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4 = 4
. fan x-—sImin x
Iim { =
r—l) & 5 2

Options :

]
28393621369, ¥ 2

kJ | W

28393621370. =

28393621371, ¢ 2

28393621372, % 4

Question Number : 64 Question Id : 2839365344 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If f(x)= \/Iog(f +x+1)+,Jcosh(2x~3) , then /"(0)=

£ (x)=log(x* +x+1)+ Jeosh (2x-3) ewawd, @y f(0)=

Options :

l sinh(3) ]
1+
28393621373, # < m( m

l { sinh(3) ]
ey Nl )
28393621374, % 2\ VC0sh(3) cosh(3)

log 3 /cosh(3) —sinh(3)

2 (L‘ﬂsh[:’;})i

28393621375, #

JJcosh(3) —sinh(3)

3

2(cosh(3))

28393621376. ¥
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If x=cos’ §—sin’ 6 and y = 3/cos 6 —/sin &, then the value Df% at 6="is
2

X=cos @—sin’ 6 OO y=4fcosd —3sin 6 NS, @1 6:% Q)

@ 38 eNed
dx



Options :

232

28393621377.¢ 9

28393621378. ¥ 3

28393621379. ¥ 9

{E
9

28393621380. #
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If 2x* +3xy—y* +4x—5y+6=0, then the value of ;ﬁ at (x, v )=(1,-2)1s
e

257 +3xy— ' +4x=5y+6 = 0008, @)% (%, y) = (1, -2) 5 ?&né& AV
dx
Options:

28393621381, ¥ 1

28393621382, ¢ -1

.
28393621383, # 2

28393621384.



%0
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The diameter of a sphere is measured as 42 cm. If there 1s an error of 1/77 ¢cm in measuring
it, then the error involved in the volume of that sphere (in cubic centimeters) is

2,8 F'o M), T 42 0. . e FOTH. A Foddod 1/77 0. . a0 aod,
@) SF$0 TE), DIN0STE0S ST 80 (1 0. » o)

Options :

Lt
LIPS ]

28393621385. #

[~J
£

28393621386. ¥ 7

Lad

28393621387, ¢ 30

36
28393621388. ¥ 7
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For h,k € N, let P(h, k) be the point of intersection of the curves x*y—x* =8 and

y° —xy* =32.If 6 is the acute angle between these two curves at P, then tanf =

hk€ENS r'y—r =880 ¥ —1" =32 oF S50 90dS Do
P(h, k) &0%00r0. P 5O 8 Boch Siseer $ddstier 3w §e0 0 eond, )¢ tanf =
Options :

27
28393621389, # 11

ol |

28393621390. #

i
28393621391, ¥ 2

28393621392, ¢ 3
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[f the absolute maximum and absolute minimum values of the function

f{x) = x*-2x°+x-3 defined on [0,2] are M and m respectively, then M+m =

[0,2] 2 NEIDISTS (A0 f{x) = 1~ +x-3 TE) DB 1103} DeNed O DB
05 deNden M M DHB05N m eand, @) M+m =

Options:

28393621393, ¥ —4

—-104

28393621394, # 27



28393621395, % 2

28393621396, % —2

Question Number : 70 Question Id : 2839365350 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

J- 1
[:r 3. 2 ]m"f +4x> +3
X

Options :

dx =

1 N
;Sec (X" +2)+e
28393621397, ¥ <=

28303621308, % ~COsech” (¥ +2)+e

1 il 2
— Tan ‘[.‘c+— +c
2 X

F

28393621399. *

2

1 sl 2
——Cot i[Jc—l——}—l—c
28393621400. %
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Correct Marks : 1 Wrong Marks : 0

3 5 . , : :
If ?}T{x{—é—r— and I[Jl-sm,H\/Hsm x]dx:j (:{)+c‘whert: ¢ 1 the constant of

integration, then f[%] - f(0)=

37’% _r<§25 58050 _[(\/]—sinx+\/l+sin x]d:r = f(x)+¢, (c dadr¥es HT0%0)

oS, @:))CH f(%]—_f((}k
Options :

28393621401, % 2
28393621402, ¢ —2
28393621403, % 2v2

28393621404, # —2V2
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2sin2x—3cosx ; : , .
If_[ —. 1 dx= f(x)+c where ¢ is the constant of integration, then
28in” x-3sinx+4

[ 23000 ge= f(x) e, (e Dm0 Poroso) wand e
2sin” x—=3sinx+4

f(i}—_f'(ﬂ]:

2

Options :



28393621405, * 2108 2

28393621406, * 0

3
log(—)
28393621407, ¢ 4

28393621408, # 1
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I 2x+3

AM3xt-2x+1

Options :

gv'}x: —2x+1 +]—3lsinh" (3El}+c

Lad

28393621409. #

1
28393621410. ¥ 3 JE

V3x® 2r+l+€smh [\/_T_]} i

|
28393621411, % -

2*-..|'3_1:."1—2)r+1+ll—." ’[M}H'

sinh
28393621412, ¢ 3 313 2
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T xcos’

X x
froos's ;
L lsmx

Options :

w(r—2)
28393621413. ¢ 2

28393621414, % 1

7(7w+2)

28393621415, % 2

T
28393621416. ¥ 4
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¥

If [x] represents greatest integer function then I[Z —x|dx=

7

[x] 36 565 T8 (Do) JrdR, [[2-x]dx=
Options :

28393621417, % 10



28393621418. ¢ 0
28393621419, % 4

28393621420, % 3
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2 X

j—i dx =

0(2-x)s

Options:

U1|E

28393621421. *

“|m
[
'+

28393621422, %

28393621423. ¢ 3

_24
28393621424, % 12
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)

e

J-J."} (2- _Jb:)_1 dx =

i

Options :

128
28393621425, # 105

16
28393621426, ¥ 35

256
28393621427. ¥ 105

32
28393621428, ¢ 35
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If the slope of the tangent drawn at any point (x, y) to the curve y = 7(x) is 3¢’ -5 and

£(1)=2, then the tangent at (1,2) to the curve y = f(x) intersects the curve at the point

7= f(x) OF I8 BT DoAY (r,y) SO AAS $916;0 Fen 3k -5 HOA
f()=2 o8, y=f(x) T8 (1,2) I HDS 38,09 HOCW S0 POk
ALTAVN)

Options :

28393621429, % (2,0)

28393621430, ¢ (-2, 8)



28393621431, # (3,-2)

28393621432, % (-1,6)
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The general solution of the differential equation (3x—4y)(dxv—3dy) +[6dr—4afv) =0 is

(3x—4y)(dx—3dy)+(6dx—4dy) = 0 T 580 SD¥G00 T, rordn IS

Options:

28393621433, # = 2_‘.’ + h}g | 3x— 4_1' +6 |: c

58303621434, % 5x—15y—4log|15x-20y—12|=¢

Sx—15y+14log

28393621435, ¥ 15x-20y—12|=c

58393621436, % O¥ —4x+log Ox—12y+4|=c
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B o 2 . ; dy ) :
The general solution of the differential equation (secx+ tan .r)~d‘—+(SEC‘ x+secxtanx|y=11is

X

]

(secx+tan .11');+(secj x+secx tan .1') v =1 oF @380 Hidn0 Tns), Frerde oS

1
¥

dx
Options :
28393621437, # [l+5i“ I]}’Zﬂ CoOsx+c

58393621438, % (1HCOSX)y=xsinx+c

28393621439, # (secx+tanx)y=xsecx+c

28393621440. ¢ (secx+tanx)y=x+c
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The ratio of relative strengths of the gravitational force and the electromagnetic

force between two charged particles is

DO e333Feh Segred $0¢5g ey HXha 15Se 23230 OO AENSH), Ok
2050 FRE dEEie AD)S

Options:
11
28393621441, % 10
39
28393621442, % 10

37
28393621443, ¢ 10

4
28393621444, % 10
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af fx

The efficiency of an engine is given by 7=——"_log, T’ where ¢ and f are
sin

constants. If T 1s the absolute temperature, & - Boltzmann constant, &-angular
displacement and x is distance, then the incorrect statement is

a8 aholgo and) BEs q:fx—ﬁ. log, E 38E a N0 f e doroseen.
sind kT ¢

T H%e% é@é{_ﬁeﬁ, k-85 %08 Soro¥o, 8- 8Bch Fdigodo, BB X - ooy
£ed @ @

3093 (806 BE o3 (5555550

Options :

Dimensions of f# are same as that of force

28393621445, % f ) héen podn Ees J8rHE

. . -1
Dimensions of @ x are same as that of energy

1 wt
98393621446, % & X GwE) oden F§ Do HHrEin

Dimensions of 7~ sin@ are same as that of o/

Ja303601a47 % 1 SING B0 Diboen af EE) e HEeSED

Dimensions of ¢ are same as that of g
78393621448, v & FNE), v&e0 fGENE) D& DIFHED
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A bird flies with a velocity (t-2) ms along a straight line, where t is the time in
seconds. The distance covered by it in a time of 4 seconds is

2.8 38 (t-2) ms Srf5nd o8 $640s Foal JROI6, aE t ©HI0 sl VEDES”

@ 3§ 4 s seod® (FairHod GrEo

Options :

28393621449, % 2 m

28393621450, v 4 M

28393621451, ® 6 M

28393621452, % 8 m
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A car is travelling with linear velocity *V™ on a circular road of radius *r’. If its

velocity is increasing at a rate of ‘@’ ms™, then the resultant acceleration will be

39cH o V' & o ot ¥ a*gé)vg;ﬁm o &8 SEsed a‘)ﬂga’:aaé* BakeBothihdb.

® 5 Fidw ‘@’ ms? TS DrvEr 6ol o0 HOS S

Options:

(‘fl J
28393621453, #

28393621454, ¢



V4
[ _: B a‘- J
28393621455, % Y\’

[wﬂ ]
28393621456, #
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Two blocks of masses Wi and W, are suspended from the ends of a light string

passing over a smooth fixed pulley. If the pulley is pulled up with an acceleration

‘g’, then the tension in the string will be

1SaS50mHen Wi 00080 W e Both Hged 2.8 S0 ), shded Jared Aer¥

D 0B Toyhdy 28 So@ AsBe S5O ¥ | Berdddard. fosd ‘g

¢ £56508 D8 €A $0[BES R 556
Options :

AW, W,
28393621457. v Wit W, .

QW W,

g
28393621458, ¥ WiT W,

W, W,

W W,

28393621459. #

W, W,
2(W,+W,)

g
28393621460. #
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A body is moved along a straight line by an engine which delivers a constant power.
The distance moved by the body in time °t’ is proportional to

28 dboFo {Y TRy 8o Tk w8 S K80 Joal SDHERHS. ‘T
oot 8 $%H $90DS drdo B8 wHe®ird st dothid

Options :

t-%
28393621461, % L7~

28393621462, % L7

34
28393621463, ¢ L7°

9
28393621464, % |
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A body of mass 3 kg is moving under the action of a force which causes a
F e
E} m, where ‘t" is time in seconds. The work done by the force

1n first 2 seconds 1s

displacement of

.
a

t
3 kg (tgorario a8 S0 D a8 aodn 859 3ot S0 ob ?] m ﬁ;é@jo—afo

D656, 8% ‘1’ oo EH0E’. Indd 2 WEHes® @ sy 329 5

Options :

28393621465, % 2

28393621466, ¥ 3-8

28393621467, % 5.2

28393621468, ¢ 24
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Two blocks of masses 2 kg and 1 kg are tied to the ends of a string which passes
over a light frictionless pulley. The blocks are held at rest at the same horizontal
level and then released suddenly. The distance traversed by their centre of mass in
2 seconds 13

(acceleration due to gravity = 10 ms2)

(Ssoeoen 2 kg, 1 kg ifo Dot aayesn o8 e 8ird 8O3 Hos 2 od
BB a8 So® Dde SDHT. By a8 §8e SErods %ﬂ;o:oeﬁﬁ 0% agRPom
D3, 2 ED0S” e (5308 oo (Husrwo TR R0

(e dyeso = 10 ms?)



Options :

28393621469, # 1.42m

28393621470, ¢ 2.22m

28393621471, * 3.12m

28393621472, % 3.33m
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A particle of mass ‘m’ is moving along a line y=x +a with a constant velocity

‘v’. The angular momentum of the particle about the origin is

E5oe8 ‘m'tfo o8 Sedin PEIKEN'YV' & y=x +a T Sowld IORHA. cowd
farefothid) Hbore & Smo Gk SBd RN

Options :

28393621473, % Mva

28393621474, % Mva~/2

28393621475. ¢ ‘jg

mva

28393621476. ¥ 3'-'\5



Question Number : 90 Question Id : 2839365370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A force of 6.4 N stretches a vertical spring by 0.1 m. If it were to oscillate with a

A v 3 i g
period of 1 then the mass that 1s to be suspended from the spring is

VeI 6 28 QoD 6.4 Neoodn 0.1 m FHOEB. & Rof %@égzﬁ 008"

Foe TankD @)of Dol Bertbahbeds Ehoes
Options :

T
~ kg
28393621477. % 4

28393621478, ¢ | K8

1
28393621479. ¥ T

28393621480, * 10 kg
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The ratio of orbital velocity of a body near to the surface of a planet and escape velocity

of a body from the surface of the same planet is

28 1570 OO e 58 SIS & 2,8 85509 Ty §53 IR, oF |55 $00D
0BG 2.5 50 TnE), DeFoDS SRS fed AN )e



Options :

28393621481, # V2:1
28393621482, % Va:l
28303621483, ¢ 1:¥2

28393621484, % 1 NS
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The length of a metal rod at 30 °C 1s 30 cm. If its temperature is raised to 105 °C, its

length is increased by 0.027 cm. Then the coefficient of linear expansion of the metal 1s

30 °C 258 2.8 ey 56 gy ey 30 cm. o &es & 105 °C & 20DS,
§7¢55 0.027 cm K06, ®oNS & 'aro Ty, Barsss Hdo

Options :

28393621485, % 12x107/°C

28393621486, % 12x107°/°C

28393621487, ¢ 12x107°/°C

28393621488, % 12x1077/°C
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The angle of contact is 120° when a cylindrical rod is vertically placed in a liquid. If

the same rod 1s placed horizontally in the liquid, then the angle of contact is

2.8 s G e 2.8 (3508 HoDSHI®, D)8 o 120°. oF 469 @
3508 § Bz0SrosEorT &SNS, 5155600

Options :

28393621489, % 00°

28393621490, # 30°

28393621491, ® 90°

28393621492, v 120°
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In a well the pressure at a point 10 m below the surface of water is

(g =10 ms?)

2.5 27D D3 &DH8©0 H0G 10 m S 9y 2.8 Dot $& DS
(g =10 ms?)

Options :

4 N2
28393621493, * 2 X10"Nm



= -2
28393621494, % 10°Nm

A Ny -2
28393621495, * 10" Nm

5 =2
28393621496, v 2x10° Nm
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The heat energy required to convert 10 kg of ice at -10 °C into water at 0 °C is

(specific heat capacity of ice = 0.5 cal g'! and latent heat of fusion of ice = 80 cal g1)

-10 °C &&ffies SO o 10 kg © 0 0 °C 5O AT S8 1w @568
&g
(9025 DIFE wragz0 = 0.5 cal gt SHBO5M 20w (B hefao = 80 cal gl)

Options :
g 4
28393621497, ¢ 327 x 107 ]
3
28393621498, * 357 x 107 ]

28393621499, % 357 x 107 ]

5 5
28393621500, % 327 X 107 ]
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Correct Marks : 1 Wrong Marks : 0
If the reading in Fahrenheit scale is twice the reading in Celsius scale, then the reading

in Fahrenheit scale is

TBSrS Sr505R BG0R DEHD Sr0S’D BAE0R % B0y ®ond, FBSrS
S0 BGoh
Options :

28393621501, * 100 °F

28393621502, # 120 °F

28393621503, * 80 °F

28393621504, ¢ 320 °F
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When some amount of heat energy is supplied to a monatomic gas, the percentage of

heat energy used for increasing the internal energy of the gas (7 =5/3) s

2,8 D8 5587 FAHSE Fosb s Q HBIT T, a0 &I S o
0808 3§ DEHHAK BT HES &3 780 (7=5/3)

Options :

28393621505, ¥ 60

28393621506, ¥ 40



28393621507, % 20

28393621508, * 80
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The average energy possessed by an oscillator at a temperature 300 K is
(Boltzmann constant = 1.38x107% JK ™)

300 K &8P (565 5 2.8 Ber¥o $O8 &od Hifen $8
(EE’S@; VIS %)D‘Déo =1.38x« 10‘33 ]K_E]

Options :
28393621509, * 2.14x 107 ]
28393621510, % 2-07x 1077 ]

28393621511, ¢ 414 x 107 ]

=21
28393621512, % 4.6 x 107" ]
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A wave is given by y =5x107 sin(12.57x - % t). Then its wavelength and time period

e

are respectively
(v and x are in metres and t is in seconds)

28 s8ofio y=5x10" Sill(llSE.‘i—%'[] T oSG0, )% TR $8okEE50

B0 BTG50 e SEOT
(y 805 x e SHexd & B t DES )

Options :

28393621513, ® 0.04m, 4 s
28393621514, % 0.16 m, 15
28393621515, % 0.04m, 2 s

28393621516, v 0-16 m, 4 s
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A tuning fork ‘A’ of frequency 250 Hz and another tuning fork ‘B’ of frequency ‘x

produced 5 beats per second when vibrated together. If the fork ‘B’ is waxed and

vibrated together with ‘A’, then 3 beats per second are produced. Then x =

a0 250 Hz e dye3d0dho 'A' HOain aradeyaso X' e D&% dyesddodio 'B'
O 2,300 $0205 BN E0% 5 ddjodaren drédh e eonds. afs¢ ‘B’
F9830¢%0 % Do @880, ‘A’ & 020 DSOS, DEH 3 AJ ol e
&éh 18 @ond), X =

Options:



28393621517, ¢ 295 Hz

28393621518, % 245 Hz

28393621519, * 247 Hz

28393621520, % 233 Hz
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A convex lens forms a real image of a point object placed on its principal axis. If the

upper half of the lens is painted black, then

2,8 5002755 §680 TR (DTS ©F 0 N &GOSR 2.8 Do SN Twg) Az
D802, A5)EN0E. 680 HDS2TH0 Sensy S0 syred YRS,
€95) )C8)

Options :

the image shifts upward
28393621521, % D8DO0 D8 KDL

the image shifts downward
28393621522, % D020 8o atHhéddod

the intensity of the image decreases
28393621523, v OBD020 TInE) B(5e Shedrod

28393621524, #



the intensity of the image increases
1880250 TBNE), €356 SO
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Two slits separated by a distance of 1 mm are illuminated with light of wavelength
6.5 x 107 m. The interference fringes are observed on a screen placed at 1 m from the

slits. The distance between the third dark fringe and the fifth bright fringe 1s equal to

1 mm &rd0d S Tahades dot BOEOMD 6.5 x 107m $80838:0 o sFoad
15BN AT, DOEO H0S 1M 5E S0SAS BED S3888 Heden EANY,
355 Aos@Er HES 0O 565 K038 HE® kg Erdo

Options :
28393621525, # 0.655 mm
28393621526. ¢ 1.625 mm

28393621527. % 3. 125 mm

28393621528. ¥ 4.785 mm
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Two conducting spheres of radii r; and r, are charged to the same surface charge

density. The ratio of electric fields near their surfaces is

Ty 000 Ty 5rgren o Bod ard Agren 2.8 Gadde e3d ro|dessy
RFDNGTN. T3 Gaddere) S A 3 e A

Options :

28393621529, # ©

o
—
[ 357

28393621530. #

L

28393621531, ¥ 2

28393621532, ¢ 1:1
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Two electric charges +2uC and —4uC are separated by a distance 3 m in air. At a point

P located on the line joining the two charges and in between them, the electric potential
is zero. Then the electric field at a point P (in NCY) is

Bo X3S esFzen +2UC 8 <4UC TOS' 3 m Erdsnd SEToHGS. &
B0 &37°0e $02 8¢ D) Bodr 83770 858 (0 2.8 Dothe) P 38 g
FRIONS D). @00 Do) P 5O Dz 3 (0o (in NCT1)

Options :

28393621533, # 9,000



28393621534, % 18,000

28393621535, % 12:000

28393621536, v 27-000
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If the masses of three wires of same material are in the ratio of 1:2:3 and their lengths

are in the ratio of 3:2:1, then electrical resistances of these wires are in the ratio

28 D08 ToHaAS Surch Sfe (3S5o7hen 1:2:3 DB HB% el Srdheyen
3:2:1 2B’ HoB a3 BE} DS ATBSNO )

Options:

28393621537. # 1:1:1

28393621538, # 1:2:3

28393621539, ¥ 9:4:1

28393621540, ¢ 27:6:1
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As shown in the figure, in a Wheatstone’s bridge, three resistances P, Q and R are

connected in the three arms and the fourth arm 1s formed by two resistances S; and S;

connected in parallel. The condition for the bridge to be balanced is

H00E ErD A0, 2.8 DS 1DG & P, Q H0ckn R &F sarc AFGsmwen
SR 20ePOE @ DNOTRA0DDG Gy 00, T8 £H20, DSFoSIorT
NOTRA0HDEBS S1 080N Sy ©9F Boch AFHEN® o507 AE)e0d. |DG
DOKOSOMT DTANEIZ THOVS AN

€ [
Options :
E: 2R
28393621541, 8 Q S S
P RS,
28393621542, ¢ Q SS,

P R(5,+S,)

28393621543,  Q 288,
P R
28393621544, % Q S, +8
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A current 7 flows in an infinitely long, straight and thin walled pipe, then
950505 EFCESY BT DS Fdsen K> S50 O S DS 1DTT0 i DS,
[5G T

Options :

the magnetic field at all the points inside the pipe is same, but not zero
£8393621545. % TR0 SD© @) HotdH® SO aHR}08 F(H0 2.3er HoLnod SR ) 5D

the magnetic field at any point inside the pipe is zero
58393621546, ¢ QSN D & Dot SISOV 0,08 § (0 D)

the magnetic field 1s zero only on the axis of the pipe

28393621547, % D0 @50 S S ©0H, 0 T (0 )M HOLNod

the magnetic field 1s different at different points inside the pipe
28393621548, # &0 FHO FB K Do I 00HTL06 T (650 DS O HoLnod
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A closely wound solenoid of 80 cm long has 5 layers of windings of 400 turns each.

The diameter of the solenoid is 1.8 cm. If the current carried is 8 A, then the magnitude

of the magnetic field inside the solenoid near its centre is approximately

SHET &3S 80 cm &P &) FOTonE 5 FSen L8 ¢0d. (HS &S 400
HeY Gy on. FOTonG 700 1.8 cm. 1D:55703 NS 8 A @ond FOran
890807508 R 30|50 &S echHnrL08 (¢ HOSPR0 ST

Options :

28393621549, % 1.5 x 102 T



28393621550, ¢ 2.5 x 10> T

28393621551, % 3.5x 102 T

28393621552, % 4.5x 102 T
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The period of oscillation of a bar magnet at a place is 2 s. At the same place, the period
of oscillation of another identical bar magnet whose magnetic moment is 4 times to that

of first magnet is

28 1DTH0 SO 28 Komahar) 0o TE) BoOTIES 500 2 5. oF (DBF0 SO,
F06¢3 90D [27a0Eai80 4 BEY fie) S0TE 8§ Dedred DO Ohar), 050 B3NS,
EoTddd 00

Options :
28393621553, ¥ 4 5
28393621554, ¢ | s

28393621555, ¥ 2§

28393621556, % 0.5 s
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The self-inductance of a coil depends on
2.8 & e TN, HL0Ho 5868 55300 AW eSS0
Options:

number of turns of the coil only
283093621557, % (1 O TG <& Do SPSHD,

size of the coil only

58393621558, &3 206 TINE) DOSFLI0D ST

shape of the coil only

28393621559, % 35 T8 D) STE0D ST

size, shape of the coil and number of turns in it
£8393621560. ¢ S0 tHE HBITE0, B5PE0 HBAW TS tHE) HOPF
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A conducting circular coil is placed in a uniform magnetic field with the magnetic
field initially directed perpendicular to the plane of the coil. In step A, the coil is
rotated from its initial position by 60° about its diameters in time ‘t’. In step B, the
coil 1s further rotated about the same axis in the same sense by another 120° in time

“2t". Ratio of emf induced in the coil in step A to that in step B is

2.8 ST TS TurE SN 2.8 DB ©0chHinr) 06 TS0 &0dB00, BAH)0
3 (650 B0GE’ BN TE), De0SerAE 0020 &od. ‘A’ (HEHE, ) T
RFE0%5 3700 08 't 1HAH0ES ) argd0 ey 60° B B0, B HEah &
S8 ©F F2065 2t HH0H0S T 120° &0F e9F 0 HEY SO @n1G0d. A
5605 B (8c0eS S8heyeS (mBne emf © D)8

Options :

28393621561, % 1:1

28393621562, # 1:2

28393621563, % 113

28393621564, ¥ 213
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An alternating emf given by the equation E =200 sin (50 nt) (where E 1s in volts
and t 15 In seconds) 1s applied across a series combination of an mnductor and a
resistor having inductive reactance 40 Q and resistance 30 Q respectively. At time
t =15, the power dissipated by the resistor s close to

(cos 53°=10.6)

2,8 5068 emf GBwg) ad88£0 E =200 sin (50 ) (E SepeS 2080k t DERES
&00). A [DB8¢ 1a0G0 40 Q HBAM ABLEES 30 Q 08 &) (w880
2000 AT (363 Fo0nE ©NG0NTTE. 0G0 Tt t=15 FOO H&

0855000 edhg 0G50 YT
(cos 53°=0.6)

Options:

28393621565, % 480 W
28393621566, ¢ 240 W
28393621567, ¥ 173 W

28393621568, % 307 W
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The speed of electromagnetic waves in a medium is 1.5x10% ms. If relative
permittivity of that medium is 2, then its magnetic susceptibility is

(speed of light in vacuum is 3x108 ms1),

2.8 OirsEoS DEIBE0HI08 Sdore Ko 1.5x108 msl e airdEo T
g H0;830¢3 2 o d, 7l ©0HRTL0s% SRDOES
(#5506 5208 56 3x108 msl),

Options :

28393621569, ¥ 2

28393621570, ¥ 3

28393621571, ¢ |

28393621572, % -1.5
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Consider two black bodies A and B having equal surface areas. On the surface of
A, ‘n’ photons of frequency ‘f” are incident perpendicularly in a time ‘t". On the
surface of B, ‘2n’ photons of frequency *3f" are incident perpendicularly in a time
"4t”. The ratio of average intensity of radiation on surface A to that on surface B
is

QATIR G0 JFerercd SOR €55) Boch §)ddjen A H8ain B e
HBKES0N0G. A B3E) GHOSO0D, ' )50 EORS 'n' Ferad 't HevoHod
@00 Jcer)on. B 3nE) &8¢0, '3 )0 DA 2n' Fera
4t D000 ©0OMT DTN, A HOGN B © &hdsere e Hfen
D8Ee 950 D)

Options :

28393621573, ¢ 2:3

28393621574, % 32

28393621575, % 1:12

28393621576, % 1:24
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A photon released by the transition of an electron from the second excited state to
the ground state of Hydrogen atom is incident on the surface of a metal of work
function 3.1 eV. The de Broglie wavelength of the most energetic electron emitted

from that metal surface is nearly

OB @y g B0o%s &8s ran Hod Frprond JoFS G0
H858% osor DGO ToHadS Fers I (HDHovo 3.1 eV E08%
GHOSO0D HWS0O. 8 S GHOSO0 0G RO TS ¢5306 TS0 T
(TS TBwE), & 151 SS08BEs0 srdorr

Options:

28393621577, % 2-6A

28393621578, ¥ 4A

28393621579, % 6A

28393621580, % 1A
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The radius of a nucleus of mass number 27 is R. Which of the following is true
about a nucleus whose radius 1s 2R?

18555073 o 27 Key Bo(dd¥o Ty, asar@o R. arsardo 2R &) 2.8 Bo(dd¥o
%800 (80 a3 DB E?

Options :

It 1s stable in nature

28303621581, % @8 DEIBS VEPSS



Its mass number 1s 54
28393621582, % M (Q550°F domg 54

It is likely to undergo fission reaction
28393621583, v OO DDYE IG5 MHSETDS ©S55°F0 GOd

It is likely to undergo fusion reaction
28393621584, % OO D00 5G5E HETDS ©I550 SO
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The nucleus '3)X undergoes the series of reactions given below:

xS op de¥ed g WS oo

The number of neutrons in the nucleus R 1s

Bo|%%0 51X (Bod ab5088 (D885 338 S od:
5 i AN B ez Y O AN,

R 01580 ' SrjlerSe Sows

Options :

28393621585, ¥ A—3

28393621586, ¢ A—Z—3

28393621587, ¥ A—9

28393621588, # A—Z—4
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In the logic circuit given below, if X=1 and Y=1 then the values of P, Q and R
are

Po

LD.,_

Bod A5 58S o788 D87 26565, X=1 60k Y=1 @ond, P, Q H6dn R
NN e

Options :

28393621589, v P=1,Q=1,R=0

28393621590, #* P=0,Q=1,R=0

28393621591, * P=1,Q=0,R=1

28393621592. # P=1,Q=1,R=1
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The symbol given below represents

BOS 8552585 HQ ArDocHdd

Options :

A p-n-p transistor
28393621593, ¥ &5 P-n-p (€7D IN0

An n-p-n transistor
28393621594, ¢ &5 n-p-n 1€ )V

A p-n junction diode
28393621595, % &S p-n BOES A&

An inductor
-4
28393621596, * &S5 050
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A telephonic communication service is working at a carrier frequency of 20 GHz.
Only 20% of it is utilized for transmission. If each channel requires a bandwidth of
5 kHz, then the number of telephonic channels that can be transmitted

simultaneously are

2.8 BONFIE £0rsAEAS 0850 20 GHz 75rE S50 rae)dsod HR) BIod.
290X 20% STSH (HTTRE IATFATH. (D8 TIOH 5 KHz He3Then)
BSIEB, NE500E N80 ToHKO BOFIS IS Hows

Options :

28393621507, ® 0 X 10°
2 % 10°

28393621598, #

28393621599, v & X 10

5
28393621600, * 4 X 10
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What 1s the approximate angular momentum (in J s) of electron in hydrogen atom in its
ground state? (h =6.625x107 I 5)

Ar8 S D) IERS 85PN SR 0TS FEoh (555 FKo (5 ) Dsrsorr
0e? (h=6.625x10*Ts)

Options :

47
28393621601, ¥ 2110x10

28393621602, % 2110x107"

28393621603. ¥

36

28393621604, ® 1055x10
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The energy of electron in hydrogen atom when present in n=1, n=2 and n=3 will be in

the ratio of

P EES HESTE0 SR JO|FS 1 =1, 1=2 HB05 1=3 O &)t A ¥§ DS

Options :

28393621605, ® 25:16:9

28393621606, ® 16:9:4

28393621607, ¢ 36:9:4

28393621608, % 312t 1
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What is the correct order with respect to metallic property of Zr, Cd, Sn, Sr?

Zr, Cd, Sn, St © S5 8208580 020500 DETDA (Bl DE?
Options :

28393621609, ¢ Sn<Cd<Zr<Sr

28393621610, # SN<Sr<Cd<Zr

28393621611, ¥ Cd<Zr<Sr<Sn

28393621612, # Zr<Sr<Cd<Sn
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[dentify the number of molecules in which the central atom has one lone pair of

electrons from the following list

& (808 DS, 3058 HBSPENY B 28 2000 Bed JOIFTE O o) WEVH®
0D Mboodk

PbCl,, PH,, CIE,, SF,, BE,, SnCl,

Options:

28393621613, ¥ 3

28393621614, ¢ 4

28393621615, % |

28393621616, % 2
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In which of the following molecules, the number of lone pairs of electrons on central

atom and the number d-orbitals involved in the hybridisation of central atom, is same?

1808 ©IOS’ BAS, T HBSPENY 3 09) 2,068 JO|T@ BOLE DO
58050 30(¢58 HBSTENY N0EBEBE0S FET) d - 98¢y HoW§ DT ?

Options :



28393621617, * CIF;

28393621618, # PC IS

28393621619, % Brks

28393621620. ¢ S
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4 g of an 1deal gas A (molar mass = M) present in a vessel of volume V litre exerted a
pressure of 5 atm at 300 K. When 16 g of another ideal gas B (molar mass = M) was
introduced 1nto this vessel at the same temperature, its pressure increased to 10 atm.

What is the correct relationship between Ma and Mg?

300 K 38, V 008 08005760 o M 4 g © a8 add)raing A (Srerd

18555072 = Ma) 00D 2838w 5 atm, 3T &K S 16 g © B 38 )rain
B BrerB (595073 = M) Q & arlé S8 H0Ddc acdaw 10 atm % 2OA0E. Ma
800 Mp & a¢55 MO 020G JE?

Options :

28393621621, # Ma=4 Mg

28393621622, # Ma=Ms

28393621623, ®* Ma=2 M3



28393621624, ¢ 4 Ma= Mg
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The sum of three values 12.0, 19.034 and 2.0143 1s equal to X. The number of

significant figures in X 1s

12.0, 19.034 0805w 2.0143 & néo X § dadrdo. X 08O g8 e@ose o

Options :

28393621625, % 2

28393621626, % 2

28393621627, # 4

28393621628, ¢ 3
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Observe the following properties

[.  Molar volume II. Mass

[II. Internal energy IV. Volume

V. Enthalpy VI. Temperature
VII. Density

The intensive properties in the above list are

1808 BT 08 HBPO0S0R

[. Jrerd a0 D0re0 II. (&Sg0°%

1. e0ebd% 4§ V. a0 283720
V. o) VI essF(iies

VIL o c5ed

2 O SQ B3S o en

Options :

28393621629, v 1, VI, VIl only

28393621630, * L IV, VI, VIl only

28393621631, * L, 1IL IV, V only

28393621632, # 1L, 111, V only
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2
At T (K), Kc value for the reaction %Nz (2)H, (g):éNH (g)1s 50. The K¢

3

value for the reaction 2NH, (g) =N, (g) + 3H, (g) at the same temperature is

B —

T(K) ¢ %N,, (eHH, (g)— %NH 3 (2) 25855 K dewss 50 e9omes

2NH, (g) =N, (g) + 3H,(g) 555 0T &&F|ie$ 56 Kc Dexnsd

Options :

—bh
28393621633, * 4x10

&
28393621634, ¢ 8x10

—iy
28393621635, % 6x10

=%
28393621636, * 8x10
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Identify the correct statements from the following

A. In photosynthesis reaction, water is oxidized to oxygen
B. An example for interstitial hydride is MgH»

C. Sodium hexa metaphosphate is used in the removal of permanent hardness of
water

1808 e3¢5 BT 5O Hod0d
A. 886233 Do (BahS D, @822 m 8 158sm Tod

B. eeryodord Iy B8 S eorirds MgH,

C. A% 165 5855850 SOROTVLZ FANO T57) T )
Ga03rAa



Options :

28393621637, % A, B, C

28393621638, ® A & B only

28393621639, * B & Conly

28393621640, v A & C only
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Which one of the following statements 1s not correct?
1808 T35S DB HBTIA 5°¢0?
Options :

Molecular formula of calgon is NaAlSiO4
28393621641, v SR G308} @ e NaAlSiOq

Beryllium halides are soluble in organic solvents
-8393621642. % B30OAN0 FFBE en §8)& |TIBeeS’ §dihEron

Among alkali metals, the reducing property of sodium is least in aqueous
solution

28393621643, % SO STOS, Bord00S’ FE0Ho s §oHESE 5825 S d

White metal is an alloy of Lithium
28393621644, % N DL @I OHOLO T3NE) FDd S0
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Thermal decomposition of lithium nitrate gives

OAANO T BN ol DATHO MROTNDY D DS HEDD

Options :

28393621645, % L1025 02, NO,

28393621646, % 120> 02, N0

28393621647, % 120 02:N;

28393621648, v L120- 02. NO,
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Consider the following statements about group 13 elements

A. AICls gets stability by forming a dimer

B. BCls 1s an electron deficient molecule
C. E° (V) is +1.26 for aluminium

M3+ 1M
D. In +1 oxidation state thallium is unstable

The incorrect statements are
By 13 Sresrerdy 020500 (Bod T gwierad Ho8Sodod

AlClz &5 esZ0mr 508 PO 50, &POLHEOD

BCl;: Q0|50 586 c50), 2.8 @000y
@O0 HE] . (V) dens +1.26V

ow

D. +1 &858 28" mOaH0 @VERIO
QAT SFEPEED SPada)

Options:

28393621649, v C & D only

28393621650, * A & B only

28393621651, * A & D only

28393621652, % B & C only
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What is the correct order of melting temperature of C, Si, Ge?

C, Si, Ge © [3DBIS &aF(Hese> HBTDS 1E030 O?

Options:



28393621653, ® € > Ge > Si

28393621654, ® 51> C > Ge

28393621655. ¢ C = S1> Ge

28393621656, % 51> Ge>C
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The IUPAC name of the following compound is

B0 5880 BwE) IUPAC D&

Options :

3-(2-Butyl) Pentane
28393621657, ¥ 3-(2- 2§ BS) DOV

2-(3-Pentyl) butane
28393621658, % 2-(3-VOWO) 5§ BIS

3-Ethyl-4- methylhexane
28393621659, v 3-SBS-4-DFS TS

28393621660. #



3-Methyl-4-ethylhexane
3-03S5-4- SJS B0
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The delocalization of ¢ electrons of C-H bond of an alkyl group with the m electrons
of benzene 1s observed in

886 DTS R C-H 208 6 JOIFS o) BodS SAT JOIFS OF
@S yB:5¢0 (delocalised) BAES' Kby

Options :

Inductive effect
ﬁ W, W
28393621661, % L0 (D270

Hyperconjugation effect
28393621662, ¥ €00 (HeTH0

Resonance effect
28393621663, ¥ 08 ) (TS0

Electromeric effect
28393621664, % VO DO H2TS0
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Analkene X (CH, ) on ozonolysis gave acetaldehyde and ethyl methyl ketone. What

1s the product formed when X reacts with HBr?

28 8] X (CH, ) &8 88008’ Moerdars H80k &FS NFS 88 o
2000, HBr & X (98550885 83 &¢38)0 67

Options :

X

T

28393621665. ¥

Br

28393621666. #

¢

Br
28393621667. #

]

Br
28393621668. #
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What is X in the following reaction sequence?

1B0& SoryEnoS X a6?

i. CrO:ClL: | CS;, H:O*
> X
ii. HNO: | H250y4




Options :

CO:H

@3\0:

28393621669. *
CH:Cl1
) NO:
28393621670. *

CocCl

NO:
28393621671. *

A
5

NO:
28393621672, ¢
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A compound 1s formed by elements A, B and O. Atoms of oxygen form ccp lattice.
1
Atoms of A (cation) occupy g‘h of tetrahedral voids and atoms of B (cation) occupy

half of octahedral voids. What 1s the molecular formula of the compound?

SHrOTe) A, B HO0N 0 08 2.8 Sango S8)B90. 88188 HBSrenden cop
I

ZPOTR) JEIOTON. A DESTEDYED (TEOITD) - & ok BT SS Solerdd

EN0ToN SO B Jdsremsden (SLaire) oo eFIrdd domrosd
8| EDOTOW. NP0 Fer 6?7

Options :

28393621673. # A3B04
28393621674, # ABO,
28393621675. ¥ ABEO4

28393621676, % ABO;
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Liquids A and B form an ideal solution. The vapour pressures of A and B are 50 and
32mm Hg respectively at 300K. One mole of liquid A is mixed with 1 mole of liquid

B. What is the approximate mole fraction of A in vapour phase?

A 8050 B |Saren 2.8 @dd) [T8er), 28 %aron. 300 K 50 A Hdokn B o
LRGTOD SKHXT 50 B0 32mm He, 2.8 IS A Q 2.8 35 B § 5038, 27
ErSY S A IrS 2rBin 0usrET does?



Options :

28393621677, ¥ 0.39

28393621678, ¥ 0.50

28393621679, % 0.25

28393621680. v 0.61
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A and B are two metals. The standard reduction potential of A(aq)/ A(s)and

B"(aq)/ B(s) are -0.5V and +0.5V respectively. What is the log K. value for the

following reaction at 298 K?
A(s)+B (ag)—=A"(aq) +B(s).

2.303RT

Given : =006V

A 5005 B e Bodd Faen. AT(zo)/AlD) 60 B(ze)/Blh) © (Hdre

& 0586 F5=3e0 8 0.5 V aBain +0.5V. 298 K 50 80 988 log K dens
2)Oeh?

A (D) + B (80) == A*(2©) + B (D)

2.303RT

(3056 =0067)




Options :

6
28393621681, * 100

100
28393621682. ¢ 6

6
28393621683, ¥ 200

200
28393621684, % ©6
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For a zero order reaction A — product, a plot of [A] (on y-axis) and time (on x-axis)

gave a straight line with slope equal to —3x10” Mmin™ and intercept equal to

2x10 M (on y-axis). What is the rate constant (in M min™") of this reaction?

2.8 ) (808 85 A = &5¢5309)0 %0 [A] (y-©930 ) DO 5700 (X- ©50 D)
© 05 (™D Aok, D6¢ B ©DoQod. A aren -3x10~ M min™, o potsdo

2x107 M (y- @50 ) @00, & 385% Btn orossn (M min' o8’ ) Jod?

Options :

-3
28393621685, ¢ 3x10

28393621686, % 9%107



28393621687, % 3107

4
28393621688, * d>x10
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Match the following

List I List-11

Negatively charged sol [. Emulsion

Milk [I. Kalaazar

Gold number III. FeCl; solution 1s added to excess

NaOH solution
D. Colloidal antimony [V. Protection of colloids
1508 are3R) 23edHGtnsn
AL & -1
A. SeTRd S [ DD
B. 2rew II. Sererd
C.F'S oy [I. FeCly|rserR) @68 Fredd o
NaOH |58 §Oard)

D. Ferondd sot33nl IV. Serande 856

The correct answer is

NSTSINEAN VAR NTo)
Options :

28393621689, % A-IIL, B-1, C-II, D-1V



28393621690, v A-IIL, B-1, C-1V, D-II

28393621691, # A-L, B-1II, C-1V, D-II

28393621692, # A-Il, B-1, C-11I, D-1V
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4Ag(s)+8CN (aq)+2H,0(aq)+0,(g)—> 4[Ag(CN),] (aq)+4 OH(aq)

The above reaction represents the process of concentration of ore in the extraction of

silver. This process is

4Ag (20) + 8CN™ (20) + 2H:0 (2o) + 02 (o) — 4 [Ag(CN)] (2e) +4 OH(zo)
2 588 D018 AAy e snd I Ao|HE00TH ISR AT, & HPS
Options :

Leaching
28393621693, ¢ W F0

Levigation
28393621694, ¥ Sl

Froth floatation
28393621695, ¥ R (DEAD

Liquation
28393621696, % 1ORE DY G0
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Which one of the following statements is correct?

1808 50 HOTDIE E?

Options :

N2 is a brown coloured gas

O3 is thermodynamically stable compared to oxygen
28393621698, % GRIBE T(Q @oT© HSOT O3, 83838 S0 VYIRS

Rhombic sulphur 1s stable at room temperature
£8393621699. v O & 1i& 5¢ TrodE D® )0 PEDSA

Clz 1s a colourless gas
28393621700, * Cl2 2.8 SOHB A
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Which oxo acid of sulphur contains S-O-S bond?
& €38y e3:00¢T, He)B S-0-S 0S50 EO Goenod?

Options:

28393621701. # H,S,0;



28393621702, * H25,0,

28393621703, v H25,0;

28393621704, * H29,0y
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Which of the following reaction gives nitrogen (II) oxide as one of the products?
1808 2 5858 B2 (1) &35 2.8 (BT 8 1E0&0?
Options :

Cu +dil HNO, —
28393621705, v Cu + (Do) HNO: —

Cu +conc. HNO, —

28393621706, ® Cu+ (més) HNOs; —

Zn +dil. Hl'\HZ)_1 —
28393621707, % £Zn + (dae) HNO; —

Zn+conc. HNO, —
28393621708, % Zn +(m¢) HNO3 —
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Correct Marks : 1 Wrong Marks : 0
Identify the correct pairs in which the chemical substance given is correctly matched

with 1ts use

Chemical substance use
Ay Ch Preparation of phosgene
B) 1,05 estimation of CO
C) OF disinfectant

1808 BSOS Er0HS HTP0 R SHTBEE0S SO 2STaHGSS HOOI

oS g0 RISV INW
A)  ClL TS S0rd
B) ©O:s CO & Aonotiey
) O3 180030
Options :

28393621709, ¢ A, B, C

28393621710, % A, B only

28393621711, * B, C only

28393621712, % A, Conly
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Observe the following ions
v 7a* Cu®. Fe*' Fe¥' Ti**, 8¢, Ti*'. Ni**, Co*, Cu’

How many ions in the above list have zero magnetic moment?

1808 ©adira e HOFOOTDEW
VAN Ca Fe  Fe T, 8™, T, MY 0, G
2 2Z270& S’ A WOTS OB D) WONR,08 (27050 G0n0d?

Options :

28393621713. ¢ 4

28393621714, % 3

28393621715, %

28393621716, % 2
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[dentify the correct set for [Co(NH,), ] ion. (hybridisation of Co™ , type of complex,

number of unpaired electrons in the complex ion respectively)

[Co (NH,),]" &00irs % OB D0 H80t90d. (SGm Co™ dosbsasm,
230Fa)e) G50, N0TR OATR S’ 1) 2,068 JO|FTW © o)

Options :

d’sp’, inner orbital complex, zero
28393621717, v 4°Sp’, ©@0S5 e8)¢rS H03N0, W)

28393621718. #



sp d”, outer orbital complex, three
spd’, a%s es8)erS HoIN0, S

d’sp’, inner orbital complex, two
58393621719, % 4°sp’, ©@0S5 ©8)erS JHo3Ro, Dok

sp’d’, outer orbital complex, zero
28393621720, * SP'd”, 2§ €8)erS 0300, NS)
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Identify the correct statement from the following

(A) Glyptal is made from the monomers ethylene glycol and phthalic acid
(B) Bakelite is used in making electrical switches

(C) Nylon2-nylon6 is a biodegradable polymer

1808 S BT T 5WEOD HAO

(A) 28OS TS B 'OF e300 OF e © 00 Brd & Sairdd T
(B) ZEBE o D0z 55 © SAirdS Grdmrhardd

(C) Bera2- 3era6 @edé 2.8 2855 cursyed (biodegradable) ar&snb

Options:

28393621721. ¢ A, B, C

28393621722, * A &C only

28393621723, * A & B only



28393621724, * B & C only
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A vitamin X is soluble in fat and its source is egg yolk. Deficiency of X causes the disease

28 DONS X 8955 §8tHeod BT NS’ DS IFS T s )8 0.
DENS X S'Hw) ST ) 220)
Options :

Scurvy
28393621725, % %0

Convulsions
28393621726. # HSewdy §Ko

Xerophthalmia
28393621727, % SATEO08r

Rickets
28393621728, ¥ 038 50
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Identify the pair of drugs which act as tranquilizers
2 2208 SDOoED 1808 s B D TAQW

Options :



Heroin, Codeine
28393621729, ¥ &°0°00D , §BS

Valium, Serotonin
£8393621730. ¢ SO0, DEE'AS

Dimetapp, Seldane
28393621731, % GDETD, VOB

Cimetidine, Ranitidine
28393621732, % VE3AS, BDABES
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An alkyl halide X (CsHoBr) undergoes nucleophilic substitution by Sx2 reaction. The
product of X on reaction with Mg/dry ether followed by D0 is

2.8 88,8 FB& X (CiHyBr) SN2 988 o0 &ri8arnF [ s Todheod. X
OO Mg/aPd &b, & ardd D10 © & 38506 AT ) Gred )0

Options :

Mun

28393621733, #

MD

-

28393621734, ¥

28393621735, #



A

28393621736. #
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Assertion (A) : pKa of phenol is 4.19 and that of benzoic acid is 10

Reason (R) :Phenoxide ion is stabilised by non-equivalent resonance structures

whereas benzoate ion by two equivalent resonance structures

A23B0 (A) : D pKa 4.19 HO BoSons esedo pKa 10

2800 (R) :D3)0 @O ®NFS BE'RS) A0REFe o507 9650 FoOS
BoE'GHE OIS BOK NS BE V) NTETS T 5T° B 50
SPOLNEROR.

The correct option among the following is
& 808 9050 DO

Options :

A and R are true. R is the correct explanation of A
28393621737, % A DOCKD R Heéhgein. A S0 R SO DadGe

A and R are true, but R is not the correct explanation for A
28393621738, % A 0OCI0 R Qe 5edw, 5°Q A 50 R 00D 2a56€d 5°¢0

A is true but R is false

A is false but R is true
28393621740, ¢ A £9:065 5o0) 5°) R b 50
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In which of the following pairs reactant is correctly matched with reagent that would
form benzaldehyde as product?

Bozrd)ard & &80 ™ 335608 (808 & BSOS’ (§05rE3550 HOAM B0
S950e0 AT 236 BahaFon?

CcocCl

A. O/ ————————————— H:-Pd / BaS0Oyq
CO:CH:CH»

B. @r -------- (i) LAH, (ii) H:O

CH;
C ©/ ------------ - KMnO4/ H'

.............. (i) AIH (t-Bu)y, (i) H20

Options :

28393621741, * A & C only
28393621742, * C & D only
28393621743, v A & D only

28393621744, % B & C only
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An alkene X with formula C4Hs does not exhibit geometrical isomerism. In the
conversion of X to Y, the correct sequence of reagents A and B used are (Y gives

10doform test)

C4Hg ardoer e 2.8 @@(}5 X 6 %50 0 (D¢56085¢0. X, Y I S0 98565
&HArAOT Bors E5men A, B €0 SO (Y 9030 H0E Arod)

Options :

28393621745, % BH;, H,0,/OH PCC
28393621746, % H,0 /H ; ZnCl> / HCI
28393621747, v H,O/H Cu/573 K
28393621748, # BH;, H,0,/0OH ‘ Cu/573 K
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Which of the following reaction 1s feasible?

1BOB ¢35’ & 1585 50 0E?

Options :
OH Cl
+S0Ck —— [::::I’l + 850 + HC

28393621749. #



28393621750, v H;CCH=CHCH,0H —~— H,CCH=CHCHO

KMno),
28393621751, * CHsCH,CH,OH—=2— H,CCH,CHO

o T 20% HPOs = A\

OH
273 K

28393621752. #
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The sequence of reagents which convert p-methyl aniline to p-methyl benzoic acid are
2 S8 TEFeN p-DBS AAOS & p-DBS BoEons essDore sSrFon?
Options :

28393621753, * KMnO,/H"'; NaNO,+ HCl; Cu/HCI

28393621754, ® NaNO,+HCI273K;  Cu/HCl; KMnO,/H’

28393621755, ¢ NaNO,+HCVl273K; CuCN/KCN; H,0

18393621756, * NaNO,+HCI285K; KCN; H;0’

Question Number : 160 Question Id : 2839365440 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



An amine (X) reacts with p-toluene sulphonyl chloride to give the product Y, which 1s

insoluble in alkali. The product of X with benzoyl chloride is

28 dS (X) p-5'OS 35" )TS §BE & D850 93510 Y, 580 & S&ifc.

BoE'owd §B8 & X 28153 &350

Options :
CI'DCH:CIJI-H\IH:
COCsHs
28393621757. %
CHJCH:CHﬂ\lJ COCH:CsHs
CH>

28393621758. #

28393621759, # CH;CH,NHCOCH;

CH3yCH:2NCOC¢sH:s

CH:s
28393621760. ¥



